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250y ¥ ok 85|50 Hz| 3,300V 500 rpm| 12 % 2,000 KW 2,500 kVA| 1 &8V - &l 160 1
” 50 |200/100 1, 500 4 40 50 1
” 50 |200/100 3, 000 2 1.6 2 1
SR K 7K 3] 50 200 3, 000 2 40 50 1 il K 7+ H
” 50 |200/100 3, 000 2 5.2 6.5 I N i M
Bl J% B K 3% 50 200 1, 500 4 40 50 R PN JilE ] il A & H
” 50 |200/100 3, 000 2 1.6 2 1
i JE ¥ K 50 1200/100 1, 500 4 160 200 1 3Ry T=ER il K I 2
I 50 200 1, 500 4 150 180 1 (4R FEN il K I 2
” 50 |200/100 1, 500 4 80 100 1 Hi 3% o ks @
” 50 |200/100 3, 000 2 4 5 1
I 50 3, 150 600 10 3,200 4, 000 1 (#mavr)-ti& 905 1
B A G K 850 [200/100 3, 000 2 34. 4 43 IR N fifg N il K I H
” 50 |200/100 3, 000 2 1.6 2 1 B 8 A B AN
AR K /K 5] 50 6, 600 1, 500 4 300 375 1| fig N1 B 120
A F He ok 35| 50 3,150 750 8 2,400 3, 000 1 (#kmavyy)-hd&| 447 1
At ¥ ¥ K ] 50 3,150 750 8 2, 000 2,500 1 |gkfhavy)-riEl 360 1
” 50 |200/100 1, 500 4 40 50 1 Hi 3% o ks @
” 50 |200/100 3, 000 2 1.6 2 1
% H #& 7k 3550 1200/100 3, 000 2 2.4 3 1
& T Bk | 50 6, 600 1, 500 4 1, 200 1, 500 IR N fifg W
& B oK 5 50 6, 600 1, 500 4 1, 200 1, 500 IR VN fifg N
” 50 200 1, 500 4 40 50 1 |8k B & #JE AN 237 1
" 50 200 1, 500 4 48 50 1| /K b & BE PR
o 4 Bl 50 200 1, 500 4 40 50 IR N fifg ] il K & H
” 50 |400/200 1, 500 4 16 20 1 [B5 8 & & N
” 50 |200/100 2,400 2 3.6 4.5 1 I
Mo 4y 50 1200/100 2,400 2 3.6 4.5 1 I
I 50 200 1, 500 4 60 75 1 IR v 7 8RN il I N
= B & 2R kAl 50 200 1, 500 4 12.8 16 1 |&E = = il oK A
gbﬂi’f@i 50 6, 600 1, 500 4 1, 600 2,000 IR N fiig Nl 293 1
” 50 200 — — 57.8 — 1 &R > 78R k| 413.8 KBk % E
ZH S 7K 53] 50 200 1, 500 4 56 70 IR VN fiig Wl 300 1 |# A5 M
I 50 6, 600 750 8 1, 200 1, 500 1 |#kmavr)-ti& 375 1
T # 4 B|50 200 1, 500 4 60 75 1 (#kmavr)-i& 340 il K I H
I 50 200 1, 500 4 20 25 1 |m 22k KA 39 1 I
K H 4 H|50 200 1, 500 4 40 50 1 |8kfhavy)- i I
LR FERE K| 50 200 1, 500 4 100 125 1 |R v 7 % HN| 805
n 50 |200/100 3, 000 2 1.6 2 1 |B5 %€ A& B N 10
" 50 [200/100 | 3,000 2 6.8 7.5 1 (B2 KEWME 58
0 EE 435 50 1400/200 1, 500 4 240 300 1 |8kfhavy) - 36
I 50 |200/100 1, 500 4 8 10 |1 E W =E N 9
Z 50 |200/100 | 3,000 2 6.8 7.5 1 [BER K ME 532
b L %5 7K 35 50 6, 600 1, 500 4 2, 000 2, 500 IR N fifg M| 1,706 1
& 7 #8 7K 3] 50 200 1, 500 4 80 100 IR N fi ] il K & H
” 50 3, 150 1, 500 4 1, 600 2, 000 IR N fiig M
A S Kk H 50 3,150 750 8 2, 000 2, 500 1R fig N
2t 47 10
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